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 02 
 

2.1 
 

 
2.2 
         

 
2.3 

 
 
 
 
 
 
 
 

  1.1.1  
  99/100 

 

                                        

   1.2.2 
  145 

7,200 + 8,000 - (200*12) = 12,800

( )

7,200 - (400*14) 1,600 
 

    1.4.2 
  247 

( )   1,500,000  

( )   1,020,000  

( )   2,520,000  

             18,000  

( ) (2,520,00018,000)              140  

(18,000-17,500)                   500  

( ) (140x500)        70,000 
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2.4 

 

 
2.5 

    2.2.1 
30 

(i) 
= 40,000 * 80 = 3,200,000     

 = 45,000 * 85 = 3,825,000

625,000  

(ii)  

20+15%         = 23.00  

= 25+5%           = 26.25  

= 10+10%       = 11.00  

= 60.25  

(iii)

(45,000 * 60.25) – (40,000 * 55)     

511,250    

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

    

    2.5.1 
341 

 

  

(i)   = (360-315)/360 
= 12.5%  

  

(SEP)
 

 
=    0.125(1-0.125)/360 
 
= 0.01704   1.74% 

(ii)  99% =0 .125 +/-0 .0174*2.58  
= 0.125-0.0449  0.125+0.0449  
= 0.0801 - 0.1699 
 
8.01%  16.99%   
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2.6 
 

 
 

2.7 
 
 
 
 

 
 
 

 

 
 
 

 

 
 

 

 

 

 

 

 

 
 

 

 

 

 
2.8 

   4.1.1 
  449 

  = 15%/12  = 1.25% 
= 4*12  = 48 

4,000,000 =1.0125 A (1.012548 -1)                   

   (1.0125-1) 

4,000,000 = 66.0437 A             
A 60,565.92

 

  6.1  
  614 

P = a - bQ 
b =50/20
a = 500 + (50*240/20) = 1,100 
P = 1,100 - 50/20Q  

= 240/80% = 300  
Q = 300 
P = 1,100 - 50/20(300)  
P = 350  

6.2 

624 

  

= P * Q 

(TR)

MR =

TR = 7,600Q - 5Q2 
 
MR = 7,600 - 10Q 

 
 
MC = 2,800

MC=MR 2,800 = 7,600- 10Q 
Q 480  

4,500 = 7,600 – 5Q 
Q = 620  
(620-480) = 140 
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2.9 

 

 
 
 
2.10 

 
 
 
 
 
 
 
 
 
 

7.2.2 
 

726 

= 2,080,000/1                           = 2,080,000 

= 2,134,000/1.1                        = 1,940,000 

 =2,917,600/1.12                     = 2,605,000

= 6,800- 4,900 = 1,900

= 2,605,000-1,940,000 = 665,000
= 665,000/1,900 350

= 2,605,000 – 350*6,800 = 225,000

X 
 

 7.3.1 
655 

 

( )

ÆÙ = 125*120% = 150

(i)  = 6,300* 150*75% 708,750 

= 4,500*150*25% 168,750 

(ii) = 5,500*125*50% (343,750) 

= 6,300*125*50% (393,750) 
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2

03    

 

(a) 

1,200 1, 200 

(1,200/8) *1.5 * (12-8) = 225 * 4     900 

 2,100 

40 = 2,100 *40  84,000 

(b) 

( )

( ) ( ) ( ) ( )

5,040 5,040*50/3     = 84,000 40*12*150= 72,000 156,000 156,000/5,040 = 30.95 

3,600 50/3

= 84,000

72,000 156,000 156,000/3,600 = 43.33 

7,200 7,200 *50/3    =120,000 72,000 192,000 192,000/7,200 = 26.27 

 (c) 

(i) 

3,600 300 480 = 300/480 =  62.5% 

7,200 600 480 = 600/480  = 125% 
       
 
 

 

(ii) 

=

480 480  480/480      =   100% 

480 480 480/480      =   100% 
 

  1.3.1     
 179/182/184/185 

3,600 480*12 = 5,760 =3,600/5,760     =  62.5% 
7,200                       = 5,760 = 7,200/5,760    =  125% 
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04 
         

 
 

(a)  

 

( )

( ) ( ) ( ) ( )

150,000 320 27 16 11 0.18 1.98 

150,000 300 30 16 14 0.12 1.68 

165,000 320 29.7 16 13.7 0.36 4.932 

165,000 300 33 16 17 0.24 4.08 

170,000 320 30.6 16 14.6 0.06 0.876 

170,000 300 34 16 18 0.04 0.72 

    88.3 1.00 14.268 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2.4    
   286/302 
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(a) 
 

( ) ( ) ( ) ( )

320 (0.6) 180 * 150,000 = 27 16 11 0.18 1.98 

 

150,000 (0.3)  

  

  300 (0.4) 200 * 150,000 = 30 16 14 0.12 1.68 

 

 

 320 (0.6) 180 * 165,000 = 29.7 16 13.7 0.36 4.932 

  

 165,000 (0.6)  

  

  300 (0.4) 200 * 165,000 = 33 16 17 0.24 4.08 

 

 
 320 (0.6) 

180 * 170,000 = 
30.6 16 14.6 0.06 0.876 

  

 170,000 (0.1)  

 

 300 (0.4) 200 * 170,000 = 34 16 18 0.04 0.72 

88.3 1.00 14.268 
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(b) 

(i) 

(100,000 * 500 – 100,000 * 300) – 10  

10 (0.4) 4 

(100,000 * 500 – 100,000 * 320) – 10

8 (0.6) 4.8

8.8

14.268

5.468 

. 
 
 

  
  = 320 * (0.6) + 300 * (0.4) =312 
 = (500 – 312) 100,000   =    18.8 
     =   ( 10) 
                                                 =    8.8 
  

14.268                   

5.468 
 

. 
 
 
(ii) 14 ð 0.34 
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05 

         

 

(a)  

( ʽ000) ( ʽ000)

(50,000) 1 (50,000) 

20,000 0.1827 3,654 

–  (1-5) (800) 3.6048 (2,884) 

–  (6-15) (2,000) 5.6502 X 0.5674 (6412) 

(15,000) 0.5674 (8,511) 

5,000 0.1827 914 

22,000 5.6502 X 0.5674 70,530 

(NPV)   7,291 

                                                                 

= 12% +                  7,291     *   (20%-12%)         

           7,291+23,097 

= 12% + 1.92%                                                                    
= 13.92%          

 (b) 

(IRR)

1.08% (15-13.92)  
 
 (c) 

&üÙ÷À$×ÛÚ æÜ´×æß µÙ& &`ÙæÚ× {`æ. 

  4.2.3  
 479/483/495 

(IRR)
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06 
         

 
(i) 

 

1,200
= 525,000/ 350 = 1,500

= 438,000/365 1,200

= 525,000/1,500  * 1,200 420,000 
 

= 180,000/1,500 *1,200 144,000 

=135,000/1,500 *1,200 108,000 
= 37,500 /1,500*1,200 30,000 
=24,000/1,500*1200 19,200 

118,800 
36,000 

= (57,000-51,400)/(1,500-800) = 8
= (57,000- (1,500*8))     

45,000 

= 1,200*8 +45,000

54,600 

28,200 

(ii) 

( ) ( ) ( )

438,000 420,000 18,000

  

(140,000) (144,000) 4,000

(130,400) (108,000) (22,400)

(38,000) (30,000) (8,000)

(18,500) (19,200) 700

111,100 118,800 (7,700)

(42,000) (36,000) 6,000

(52,000) (54,600) 2,600

17,100   28,200 11,100

  7.4.1 
 673/682/685 
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(b) 
 
(i) 

 

(ii) 

(iii) 

(iv) 
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3
07 

 

 
(a) 

 

 

 

 

(b) 
 

 

(c)   
 

 

                                                                                                                                                 

 

 

  : 5.1.1/5.1.2/3.1.3 

 512/523/524/396/408 
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(d) (i) 

= 7,500,000/100,000 
                 75  

             350  

         425  

(  ʽ000)

           57,000  

 

(425*95,000) (40,375) 

           16,625  

(105,000 (W1) – 100,000)*75
                375  

           17,000  

W1 = = (15,000 – 5,000+95,000) =          105,000  

 

(  ʽ000) 

           57,000  

 

(350*95,000) (33,250) 

           23,750  

(7,500) 

           16,250  

 
  

 
 

 
   ( )  ( ) 

 (95,000 *600)  57,000,000  57,000,000 

- (5,000 *425) 
(5,000 * 350) 

 
(105,000 * 425) 

- (105,000 * 350) 

( (15,000 *425) 
(15,000 * 350) 

2,125,000 
 
 
 

44,625,000 
 
 

(6,375,000) 

  
 

1,750,000 
 
 

36,750,000 
 
 

(5,250,000) 

 

  (40,375,000)  (33,250,000) 
  16,625,000  23,750,000 

 375,000  - 
   17,000,000  23,750,000 

    (7,500,000) 
    16,250,000 
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(ii) 

           16,250  

15,000  

(5,000)  

10,000  

(10,000*75)                 750  

           17,000  
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“ ˜”
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